
Erbijsommen tot 5.000

Oefening 1

1. 1.222 + 832 =   

2. 1.190 + 583 =   

3. 2.327 + 1.308 =   

4. 1.170 + 978 =   

5. 1.819 + 908 =   

6. 1.288 + 787 =   

7. 1.036 + 628 =   

8. 2.028 + 1.837 =   

9. 1.123 + 685 =   

10. 1.675 + 652 =   

Oefening 2

1. 1.795 + 1.376 =   

2. 1.168 + 603 =   

3. 1.114 + 716 =   

4. 1.854 + 1.365 =   

5. 1.666 + 1.249 =   

6. 1.701 + 1.407 =   

7. 2.235 + 526 =   

8. 2.305 + 1.031 =   

9. 2.180 + 643 =   

10. 1.903 + 1.303 =   

Oefening 3

1. 1.771 + 829 =   

2. 2.274 + 1.591 =   

3. 2.479 + 2.038 =   

4. 1.512 + 536 =   

5. 2.076 + 2.029 =   

6. 2.336 + 1.690 =   

7. 942 + 825 =   

8. 1.413 + 887 =   

9. 1.213 + 741 =   

10. 1.924 + 1.394 =   

Oefening 4

1. 1.752 + 678 =   

2. 1.945 + 1.834 =   

3. 2.356 + 2.286 =   

4. 888 + 590 =   

5. 2.089 + 1.284 =   

6. 1.162 + 893 =   

7. 936 + 650 =   

8. 984 + 535 =   

9. 1.080 + 506 =   

10. 923 + 923 =   
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Oefening 1

1. 1.222 + 832 =  2.054

2. 1.190 + 583 =  1.773

3. 2.327 + 1.308 =  3.635

4. 1.170 + 978 =  2.148

5. 1.819 + 908 =  2.727

6. 1.288 + 787 =  2.075

7. 1.036 + 628 =  1.664

8. 2.028 + 1.837 =  3.865

9. 1.123 + 685 =  1.808

10. 1.675 + 652 =  2.327

Oefening 2

1. 1.795 + 1.376 =  3.171

2. 1.168 + 603 =  1.771

3. 1.114 + 716 =  1.830

4. 1.854 + 1.365 =  3.219

5. 1.666 + 1.249 =  2.915

6. 1.701 + 1.407 =  3.108

7. 2.235 + 526 =  2.761

8. 2.305 + 1.031 =  3.336

9. 2.180 + 643 =  2.823

10. 1.903 + 1.303 =  3.206

Oefening 3

1. 1.771 + 829 =  2.600

2. 2.274 + 1.591 =  3.865

3. 2.479 + 2.038 =  4.517

4. 1.512 + 536 =  2.048

5. 2.076 + 2.029 =  4.105

6. 2.336 + 1.690 =  4.026

7. 942 + 825 =  1.767

8. 1.413 + 887 =  2.300

9. 1.213 + 741 =  1.954

10. 1.924 + 1.394 =  3.318

Oefening 4

1. 1.752 + 678 =  2.430

2. 1.945 + 1.834 =  3.779

3. 2.356 + 2.286 =  4.642

4. 888 + 590 =  1.478

5. 2.089 + 1.284 =  3.373

6. 1.162 + 893 =  2.055

7. 936 + 650 =  1.586

8. 984 + 535 =  1.519

9. 1.080 + 506 =  1.586

10. 923 + 923 =  1.846
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